
解答
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= |Φ+⟩ (1)

2.
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(|i⟩| − i⟩+ | − i⟩|i⟩) =
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[(|0⟩+ i|1⟩)(|0⟩ − i|1⟩) + (|0⟩ − i|1⟩)(|0⟩+ i|1⟩)]

=
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(|0⟩|0⟩+ |1⟩|1⟩)

= |Φ+⟩ (2)

3. Aliceが qubit Aを観測して |0⟩を得る確率は 1/2、そのときに Bobの手元にある
qubit Bの状態は |0⟩となる。
Aliceが qubit Aを観測して |1⟩を得る確率は 1/2、そのときに Bobの手元にある
qubit Bの状態は |1⟩となる。
Aliceが qubit Aを観測して |+⟩を得る確率は 1/2、そのときに Bobの手元にある
qubit Bの状態は |+⟩となる。
Aliceが qubit Aを観測して |−⟩を得る確率は 1/2、そのときに Bobの手元にある
qubit Bの状態は |−⟩となる。
Aliceがqubit Aを観測して |i⟩を得る確率は1/2、そのときにBobの手元にあるqubit
Bの状態は | − i⟩となる。
Aliceが qubit Aを観測して | − i⟩を得る確率は 1/2、そのときにBobの手元にある
qubit Bの状態は |i⟩となる。
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